[bookmark: _GoBack]Variable names
	v394
	Visited health facility in last 12 months


	V467d	
	Distance to health facility for getting medical help for self


	regionnew
	Urban/rural region


	agenew
	Age groups


	v201
	Total children even born (parity)


	newwhc
	Person who decides on respondent’s health care


	newwhhp
	Person who decides on large household purchases


	v714

	Respondent currently working

	v621
	Husband’s desire for children


	V384a
	Heard about family planning on radio in the last few months


	V384b
	Heard about family planning on TV in the last few months


	v394
	Visited health facility in the last 12 months
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end of do-file

. 

                     Prob > F =         0.8093

                     F(9,562) =         0.59

Logistic model for unmetneedtotal, goodness-of-fit test

. estat gof, group (10)

. do "C:\Users\FARWAR~1\AppData\Local\Temp\STD44b4_000000.tmp"

Note: _cons estimates baseline odds.

                                                                                      

               _cons      .092508   .0268115    -8.21   0.000     .0523542    .1634584

                      

  not a big problem      .7876961   .0987152    -1.90   0.057     .6158258    1.007533

        big problem             1  (base)

               v467d  

                      

                yes       1.13018   .1352431     1.02   0.307     .8934534     1.42963

                 no             1  (base)

                v394  

                      

                yes      1.030895   .1271206     0.25   0.805     .8091488    1.313409

                 no             1  (base)

               v384b  

                      

                yes      .9478623   .1277626    -0.40   0.691     .7273902    1.235159

                 no             1  (base)

               v384a  

                      

         don't know      1.017629   .1980292     0.09   0.928     .6943758    1.491368

husband wants fewer      1.098343   .3103957     0.33   0.740     .6304828    1.913385

 husband wants more      1.347397   .2024191     1.98   0.048     1.003108    1.809854

     both want same             1  (base)

                v621  

                      

                yes      .6353935   .0810033    -3.56   0.000     .4946479    .8161863

                 no             1  (base)

                v714  

                      

       someone else      2.041152   .7409078     1.97   0.050     1.000563    4.163958

      husband alone      .5845538   .1717419    -1.83   0.068     .3282535    1.040974

           together      .9178197   .1551481    -0.51   0.612     .6585128    1.279236

   respondant alone             1  (base)

             newwhhp  

                      

       someone else      2.082985   .7098334     2.15   0.032     1.066593    4.067928

      husband alone       .881366   .1969943    -0.56   0.572     .5681973    1.367141

           together      .9354336   .1181824    -0.53   0.597     .7298667    1.198898

   respondant alone             1  (base)

              newwhc  

                      

 3 or more children      3.359985   .7803239     5.22   0.000     2.129283    5.302019

       1-2 children       1.97754   .3426698     3.93   0.000     1.407066    2.779304

        no children             1  (base)

              parity  

                      

              20-24      1.386466   .1795855     2.52   0.012      1.07503    1.788125

              15-19      1.898411   .3684976     3.30   0.001     1.296621    2.779503

              25-29             1  (base)

              agenew  

                      

              urban       1.05696   .1780811     0.33   0.742     .7591706    1.471559

              rural             1  (base)

           regionnew  

                                                                                      

      unmetneedtotal   Odds Ratio   Std. Err.      t    P>|t|     [95% Conf. Interval]

                                   Linearized

                                                                                      

                                                Prob > F          =     0.0000

                                                F(  19,    552)   =       4.47

                                                Design df         =        570

Number of PSUs     =       608                  Population size   = 4,503.4766

Number of strata   =        38                  Number of obs     =      4,416

Survey: Logistic regression

(running logistic on estimation sample)

> 94 i.v467d, base

. svy: logistic unmetneedtotal i.regionnew i.agenew i.parity i.newwhc i.newwhhp i.v714 i.v621 i.v384a i.v384b i.v3


